
StudentName: 　　　　　　　 ExamDate: 　　　　　　 ExamScore: 　　　

Multipliser med potens på ti (manglende tall)

4, 842 × ________ = 48.42 9, 751 × ________ = 975.1

9, 034 × ________ = 90.34 1, 528 × ________ = 152.8

9, 15 × ________ = 91.5 3, 31 × ________ = 33.1

10, 672 × ________ = 10672 4, 915 × ________ = 491.5

9, 898 × ________ = 989.8 2, 815 × ________ = 281.5

8, 705 × ________ = 8705 3, 796 × ________ = 37.96

6, 383 × ________ = 638.3 6, 286 × ________ = 628.6

5, 897 × ________ = 589.7 1, 257 × ________ = 1257

8, 458 × ________ = 8458 2, 58 × ________ = 258

6, 459 × ________ = 645.9 7, 229 × ________ = 7229
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StudentName: 　　　　　　　 ExamDate: 　　　　　　 ExamScore: 　　　

Multipliser med potens på ti (manglende tall)

4, 842 × 10 = 48.42 9, 751 × 100 = 975.1

9, 034 × 10 = 90.34 1, 528 × 100 = 152.8

9, 15 × 10 = 91.5 3, 31 × 10 = 33.1

10, 672 × 1000 = 10672 4, 915 × 100 = 491.5

9, 898 × 100 = 989.8 2, 815 × 100 = 281.5

8, 705 × 1000 = 8705 3, 796 × 10 = 37.96

6, 383 × 100 = 638.3 6, 286 × 100 = 628.6

5, 897 × 100 = 589.7 1, 257 × 1000 = 1257

8, 458 × 1000 = 8458 2, 58 × 100 = 258

6, 459 × 100 = 645.9 7, 229 × 1000 = 7229
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